PHO=NIX Guard Pro™ Series Wire Guard

DURABILITY X DESIGN™

Installation Instructions

1 cAUTION

= All wiring should be done by a licensed electrician in accordance with state codes, local codes, and National Electrical Code (NEC) or International
Electrotechnical Commission (IEC) standards.

= Improper installation may result in serious injury and void warranty.
= (Contains parts and assemblies susceptible to damage by electrostatic discharge (ESD).
* Surge protective devices should be utilized for fixtures installed in environments subject to power surges outside the specified operating parameters.

£
T e 1

Guard Pro LO (GPL) Guard Pro HI (GPH)

Guard Pro HI (Flat Glass)

1. Remove the four (4) M5 lens cover bolts.
2. Align holes and install wire guard using the four (4) M5 bolts that were removed. Torque bolts to 20 in-Ibs.

g

V/oaERIARRAN V/aa BN RRRANY

I (I b

= 44 =

= T =T
= ] ] U‘\ Wire guard

‘

1 11 b
M5*18 4PCS

Guard Pro HI (Convex Glass)

1. Remove the four (4) M5 lens cover bolts.
2. Align holes and install wire guard using the four (4) M5 bolts that were removed. Torque bolts to 20 in-Ibs.

i
V/ga N R RRRANY

= | =
- I - Wire guard
! [
M5*20 4PCS

Phoenix Lighting 8711 West Port Avenue Milwaukee, WI 53224 USA Am—
Phone: +1414.973.3300 Toll Free: 800.438.1214 Fax: +1414.973.3210 www.phoenixlighting.com —



Guard Pro™ Series Wire Guard PHO=NIX

DURABILITY X DESIGN™

Installation Instructions

Guard Pro LO (Flat Glass or Convex Glass)

1. Remove the four (4) M4 lens cover bolts.
2. Align holes and install wire guard using the four (4) M4 bolts that were removed. Torque bolts to 12 in-Ibs.

@ ®
I 1 3 M ®
?\' [ 1

— (¢]
0 . g\( I : B
N — 0
[T I e
m\/ | (07 TANMCT I
1 IT1 1
1 (B S —
IU U U U: . Wire guard
4 4 4 é!.

N\_M4*5 4PCS

2

— Phoenix Lighting 8711 West Port Avenue Milwaukee, W1 53224 USA N5499315A
wmmm.  Phone: +1414.973.3300 Toll Free: 800.438.1214 Fax: +1414.973.3210 www.phoenixlighting.com 11.04.24



